HYDRAULICALLY DRIVEN END CONES

LIFTS AND SEPARATES
TANGLED OUTSIDE ROWS

ROLL-ACONEMIG OO,

7655 ROLL-A-CONE RD. Tulia, Tx 79088 806-668-4722




Sce Mounting Bracket Sheet

L-A-CONE MFG & DIST

7655 Roll-A-Cone Rd
Tulia TX 79088
Phone: 806-668-4722 TFax: 806-668-4725

_mn?'
T

C-21

C-10
C-10
3 C-20
1 C-7
1C-5
1C-33
1 C-34
1 C-35
1 C-36
1 C-37
4 C-38
2 C-39
1 C-42
2 C-43

— et et ek et ek ek

1 MB-3A Carrier Bracket

C-19 Corn Cone (specify right or left)

Shield for metal snout

C-21P-DRA Shield for poly Drago snout
C-21P-ELITE Shield for poly Geringhoff Elite snout

C-21P-3/8 Shield for poly snout with 3/8” & 1/2” bolts
C-21P-1/2 Shield for poly snout with 1/2” bolts

1” Bearing

7/8” Bearing

Flangettes

Drive Shaft (specify 1” for end cones)
Bearing Bracket

Hydraulic Motor

1” to 1” Coupler

Flag with chain

7/8” Special Washer

Cotter Pin

3/8X1” Bolt & Washer

5/16X1” Bolt & Nut

Key Stock

1/2X1-1/2” Carriage Bolt, Nut & Washer




ROLL-A-CONE MFG. & DIST. CO., INC
7655 Roll-A-Cone Rd

Tulia TX 79088

Phone: 806-668-4722

Fax: 806-668-4725
E-Mail: rollcone@roll-a-cone.com
Web Page: www .roll-a-cone.com

Installation Instructions
For End Cones

SITTING IN COMBINE SEAT:

Left Hand cone counter clockwise rotation. This cone is mounted on right side of header.

ﬂ\\ / : // o
e s

Right Hand cone clockwise rota/tion.-,?is cone is mounted on left side of header.

v A\ N MW\;EJ\“;:E

LOWER CONE INSTALLATION:

1. Assemble the bearings (C-10) and flangettes (C-20) onto the shafts, which extend
from the cones. The set collar side of the bearing goes on toward the upper
(large) end of the cone. Tighten the set collar with a punch, and then tighten

the allen screw. Install the 7/8” washer and put the cotter pin through the small hole
in the end of the cone shaft. (See Figure #1)

. Using the stud bolts, which extend down from the snout shield (C-21) as a
template, mark your snout as indicated. (See Figure #2). Drill an oversize %" or 3/8”

hole, whichever applies to your application. Now you are ready to mount the snout shields onto each snout.
Refer to the following pages for correct snout shield placement.

. Remove the two 5/16” nuts on the studs inside the snout shield.

Insert cone shaft with previously assembled bearing & flangette half into the other flangette half that is
welded inside the cone snout shield. Secure flangette halves together with two 5/16” nuts.







METAL SNOUT

There are 2 nuts and washers on each of the snout shield bolts. The top nuts
and washers go on top of the snout. These are used to adjust the snout shield

height. The bottom nuts and washers go under the snout to clamp on the snout
shield.

1/2X3” Bolt

1/2X2-1/2” Bolt




POLY SNOUTS—1/2” BOLTS
WITH 4” BOLT CENTERS

There are 2 nuts and washers on each of the snout shield bolts. The top nuts and
washers go on top of the snout. These are used to adjust the snout shield height.
The bottom nuts and washers go under the snout to clamp on the snout shield.

Install flat strap and c-clamp as shown.

' 1/4X2X6” Strap
17/32X1” Slotted Holes

C-21P-1
4-1/8” Hole Centers

1/2X6-1/2” Bolt

1/2X4-1/2” Bolt

1/4X4X6” Long
S, 3-5/8” Wide

8N e

3/4” -f (1 17/32X1” Slotted Holes
|

[ || 3/4” 4-1/8” Hole Centers

Bends Approximate




POLY SNOUTS—3/8” BOLT
WITH 8” BOLT CENTERS

Mount snout shields as shown. The sensor Assembly will need to be removed
in order to fasten the 1/2” washer & nut onto the rear bolt of the snout shield
underneath. After installation reinstall the sensor Assembly.

There are 2 nuts and washers on each of the snout shield bolts. The top nuts
and washers go on top of the snout. These are used to adjust the snout shield
height. The bottom nuts and washers go under the snout to clamp on the snout
shield.

Note: If plastic wear protector is used please remove in order to remove front
3/8 bolt then reinstall and drill wear protector inline with existing hole.

1 1/2x6-1/2” Bolt

”” @
3/8x3
|

3/8” bolt is
1-12” from &
the end @
I
I

Bolt

() ho\e
. nt 3/8
o\ Use ex‘\st\“g fro
(¥ -
\1“ _ /’l"’/_
|
@ @

@

®




DRAGO SNOUTS

Mount snout shield as shown below. Remove 4 bolts that fasten sensor assembly onto
the bottom of the snout. Remove sensor assembly from snout, remove and discard front
bolt and nut from sensor assembly. Drill holes in snout as shown. Mount nose shield
using 1/2” nut and washer provided

There are 2 nuts and washers on each of the snout shield bolts. The top nuts and
Washers go on top of the snout. These are used to adjust the snout shield height. The
bottom nuts and washers go under snout to clamp on snout shield.

At this time, install and tighten back nut and washer only. Reinstall sensor assembly un-
der snout. The front bolt on snout shield should go through hole in sensor assembly.
Install and tighten front nut and washer on nose shield.

i Front Bolt—3/8X4-1/2”
@ Rear Bolt—1/2X6”

Drill over sized 1/2” hole

Drill over sized 3/8” hole




GERINGHOFF ELITE SERIES
SNOUTS

Remove plastic point on bottom of snout. Measure back from plastic point 1-1/2”
and 9-1/2” (see diagram). Drill with a long drill bit all the way through snout. Drill
the holes on the top of the snout 1/2” and the holes on the bottom of the snout 2”.
Install shield with nut and washer on bottom of snout through the 2 hole Replace
the plastic point.

— 1/2X3” Bolt

1-1/2”




ROLL-A-CONE MFG. & DIST. CO., INC
7655 Roll-A-Cone Rd
Tulia TX 79088
Phone: 806-668-4722
Fax: 806-668-4725

E-Mail: rollcone@roll-a-cone.com
Web Page: www.roll-a-cone.com

Installation Instructions
For End Cones

UPPER CONE INSTALLATION

Assemble the bearings (C-10) and flangettes (C-20) onto drive shaft (C-7). These are
1” bearings. Slide bearings on as far as possible. Tighten locking collars on bearing.
Fasten flangettes onto bearing bracket (C-5) with 5/16x1” carriage bolts. Refer to
Figure 3.

Mounting brackets are very flexible for ease of obtaining proper drive shaft clearance
and cone height. Refer to following pages for correct mounting bracket placement.

The cones should be positioned at an angle so the back of the cone is close to the center
of the row of corn. Cones are mounted on angle so when cones are separating tangled
corn stalks, corn ears that break off will fall inside header.

Brackets (MB-7) may be turned to the front or back to achieve proper cone drive shaft
travel. Approximately 8-12” of square drive shaft should be exposed.

Adjusting height of cones—rear cone height adjustment is determined by severity of
downed corn. Generally, if corn is not down too bad, cones should be run as low as
possible. Cones can run as low as possible as long as they don’t rub on snouts. In more
severe downed corn conditions, rear of cones should be raised to stand cones up to make
dividing action more aggressive. This will help divide tangled stalks but may slow
down your travel speed.

NOTE: Mounting brackets may seem loose when mounted on header, but weight of

cone assembly will stabilize mounting brackets.

10




See Mounting Bracket Sheet

Figure 3

11




MB-6

MB-7

GERINGHOFF
ELITE SERIES

MOUNTING BRACKET PARTS

MB-1
MB-2
MB-3
C-5
MB-3A
MB-4
MB-5
MB-6
MB-7
MB-8
MB-9

Cross Piece
Straight Ext. Arm
Bar Clamp
Bearing Bracket
Carrier Bracket
Base

Back Up Plate
Extension

90 Ext. Arm
Stop Clamp
Strap

MB-10-ADJ Adjustable Z Clamp

MB-11
MB-12

2” Elbow for Hugger
5/8” U-Bolt for Geringhoff

ﬂ
TS

1B-1

MOUNTING
BRACKETS

GLEANER ADJUSTABLE

Page 1 of 2

12

MB-6

=
i
»
l} .
é’/ —4

UNIVERSAL

John Deere (including Clark)

Case IHC
New Holland

Caterpillar (including Lexion,

Claas)
Drago
Ford
New Idea
White

MB-4

MASSEY
Creighton
Harvest Tech
Cressoni




U

C-5

[ -MB-1

u

@
@y

“\/

MB-11

2" ELBOW

MOUNTING BRACKETS

Page 2 of 2

GLEANER HUGGER
Including Challenger, Agco, Massey 3000
Series

13




MOUNTING BRACKET INSTALLATION

JOHN DEERE, CATERPILLAR, LEXION, CLAAS, NEW HOLLAND
DRAGO, NEW IDEA, FORD, CLARK, & WHITE

THESE HEADERS USE THE UNIVERSAL MOUNTING BRACKET
SHOWN ON PAGE 12

Mount this bracket as illustrated. The 90 degree extension arm may be
pointed to front or back, whichever is necessary to achieve best rear cone
positioning. (See Upper Cone installation on page 10)




MOUNTING BRACKET INSTALLATION

CASE IH

Most Case IH headers have boxed beams across the back of the header to which the
brackets for corn cones can be mounted. (Figure A)

Mount this bracket as illustrated. The 90 degree extension arm may be pointed to
front or back, whichever is necessary to achieve best rear cone positioning. (See

Upper Cone installation on Page 10)

Most Case IH headers are low profile headers. Extension MB-6 is supplied when it
is necessary to raise back end of cones to achieve proper rear cone height.

Figure A

15




MOUNTING BRACKET INSTALLATION

MASSEY

Most Masseys have a flat surface on the top towards the back of the header to which the
brackets for the corn cones can be mounted. (Figure A)

Drill top plate on header and attach base at mounting bracket as shown with supplied bolts.

é
0
Figure A
— S
@
\N\\‘
//

16




MOUNTING BRACKET INSTALLATION

GERINGHOFF ELITE

Most Elite headers have a 3.16x2.4” oblong tubing angled across the upper
back of header.

Some headers (Northstar) have a 3” square tube across the
upper back. Case IH brackets should work for this type of header.

17




MOUNTING BRACKET INSTALLATION

GLEANER

Most Gleaners have a flat surface on the back of the header to which the brackets for
the corn cones can be mounted.

This surface is only a thin metal surface. A matching mounting bracket is supplied to
go inside of header for added support (See Page 12)

18




ANIFINOD
ANIGINOD . NOYUA FANSSTHAd
WOdd NdNLaYd HALNVIIVAM dIOA TTIAM
: SIHL MOVID A1N0D
SONISQAOH 40O1L.OIN
‘SYOLOIN NO SASOH
NALHDOILL 44AO LON Od
HNOILLOVD
H.]ﬁw,w. . Z -
N, S >
/.,r__,,.,,,,,.w,,w i 7 ‘K)jiqe[reae ojouwr uo gurpuadop

‘siiod 3uti-() ssog g4 ARy owos Ing ‘s310d [ N ..Z/T 9ARY SI010W SO ALON
(sa8ed Suimoj[og 99S) "sasoy O1neIPAY uny °g

‘Suruuids woxy 1010w dody 01 d[qe[IeAR 199(q0 A1euonR)S AUR 0} JO3ORIq I0JOW UO UIRYD UAISB] ‘4
"MOIOS 19§ USJYSI) pue JJeYS dU0d /-7) 0Juo I9[dnod pue joxoriq ojow difg ‘¢

"JJeys JOJOW U0 MIIOS 198 UdYF1) pue Jeys 10jow dIneIpAy ojuo o[dnoo 1 difs ‘gz
"parjddns s)j0q . 8/€ YIM J0OIOW ONBIPAY 0JUO ¢-0) 1ONORIq UMNSB |

SANOD ANYT ONIARNA

AINO SANOD AN 404 DILVINAHDS

19



pIS
pueq
93Ty

‘suisnoy
\ PaYyoRId © sey pue paudysn
m J9A0 U SBY )1 ISNBIIQ SYBI I
J1 fjueaaesm ou SILLIBD J0JOW Y T,

JM\ ‘gursnoy
. J0joux 3y} Jids [[Im 31 10 J10)0UI Y}

U0 SISOY IY) UI)YSI) JIA0 Jou o(f

From Combine

“[991 Y1 SOUO0D SUTUUNI IOf OTJRWSYOS
‘DA 9U0)-V-[10Y

IPIS
pueH
g1

20



.V\\
/4 N
7/ _ HAIS LA TNO
HdIS LHOTI NO / bt AD0Td DNIDVA
4SOH D19 |
AD0Td ONIOVA

21

3uIsnoy paxyoe.d
€ SBY pue paudjysn JI3A0 UII( SeY I ISNBII(
S 1 JI AJue.LIBAM OU SILLIBD 10)OUI Y I,

‘gursnoy xojour dy) pds [[im
10 10)OWI JY) UO SISOY IY) UNYS3N) IIA0 Jou o(]

. HI'HSVD
dMOOH LNIOd A TONIS 304 DILVINHHDS



" \‘b
i

//
#0019 NI 1¥0d 1431 // Y Y2078 NI 1¥0d
WOLLOH WO¥H ANITNYNLIY . 1437401 WO¥4 J¥NSSIUd
Y0074 n_Dv_OO_._. 4 A %2079 dNYMOOH LNIOd
1NIOd 37TONIS INIBNOD ONIOVY . J1ONIS INIFWOD ONIOVH

fmf
g 1Y

22

3UISNOY PIYIL.Id
€ SBY pUe paudlysn J9A0 UIIQ SeY J1 ISNeId(q
SYEI[ M J1 AJUBLIEM OU SILLIBD 10)OW I |,

‘3uisnoy J1ojowi 3y} yds [im i1 10
10)0W I} U0 SISOV IY) WINYS1) A0 J0U O(J

SEANIFINOD HITHAd NHOr
dIMOOH LNIOd A THONIS ¥40d DILLVINHHOS



